EARAROBREBRT —5 XN—ZXBISH—F

2023538298 (K) 200xH3H

IO S%3% 14175L23 48K

BRI

[AE%] 17%&:1,700,000 § ~ 237&:680,000 37&:425,000 9  43&:255,000 @ . 5 3&:170,000 M

B RS RS M MHE BF (F8) 4L (EE) | @BIEMI | £3F |SEH | AR | #E | BREN FR) / BE / £ERS
D #H 3 | BEXH 1:43.5 4-4-2-2 | 40.5| - 1 | 470 |FFEE H)
1 2 IN—IvY 56.0 (-) 1) E$f§
KR40 B:747L/330 Bwicie
= = “EEE_ 143, ~7-8- . = EER (KH)
2l8l0| V7= RAS # 3 | eER 12123)9 6-7-8-6 | 40.1 4 4:(1);3 :ﬁ’a%g
RFIVVITYR BFINE—T4—Y L—Rh— 45
—s o SEEBM 144, -6-6- . - {ERQARF— (KH)
3177 /Y bN=T "3 56.0 ! E%?) THE3 N5 6 (4+810) oz
R:Z2bOVITVI—Y BIARAI Ay tE—Y wo s\
= o= = sy TEF— 2 -5-5- - EFHRT (KH)
4|55 |2N\T3Ua—-Ta 320 1(74@)3 SR e ° ?_134) AHE—
RiDVI—7PF+a—r B:INDT—IL7Y B IE—
*Hk s H 3 | BARE 1:44.5 3344 |415| - 2 | 480 |BRA—R (KH)
5 6 EghREY 54.0 (1 1/4) 1) | REVEUS (€5)]
RiTT /=X BihFIXATY RELIS
SR Y 3 | AAKA 1:44.6 1-1-1-1 | 41.8| — 3 | 484 | =IREEHE ()\HR)
6 4|77 H—R A53.0 (172) (-2 |XREEZ
R:AEIWN=T B:U—RN1Y INEBT7— L
== = palli 5. -8-7- . - IEER KH)
711111832 b35=0L 3RS 1{‘65)9 SRR s ’ (5_130) %Eﬁg )
RI4 T RD—ILEY BVILITAVE— H—RSN—J2FYR
. 3 | EHE 1:46.0 8-9-9-9 |41.8| — | 7 | 430 |MBHUR GH)
8lglo|7—RUYI & g0 (3/4) () | TALES
R:IAYvehAY B:RIYRRISUR BEEHRS
N u I\BERTE 146. -2-3- . - ETIZ ()
917 g|wvIFRA—IL 5 3 AT 1&6)9 2-2-3-5 | 44.0 9 (ﬁs) %ﬁﬁ
RiboPO—LN B:IALTTATR B
S~ ) A0 —rd - - - - - - | EER K
R:iboYO—LR BT 7IUY— s
@ 1—F—@BIEfI
13=zr= 4,8,6,2,5,10,7,9,1
20—+ — 4,8,6,2,5,7,10,1,9
Ja=zr= 4,2,8,6,5,7,1,10,9
4J—F— 4,2,7,6,8,10,1,5.9
o I RE
B B 2 1508 | | DA & 2-10 370M = 2-8 700 3EE 2-7-10 2,250
B B 2 110 2-7 350M o 2-8 720 s 2-10-7 7,540
10 2108 7-10 1,550/ 5 & 2-10 910M
7 260 £ H 2-10 1,270M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




